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qm=;= sfo{qmd ljj/0f OsfO{ aflif{s k|yd rf}df;Ls lålto rf}dfl;s t[lto rf}dfl;s s}lkm

ot 

nIo ah]6 nIo ah]6 nIo ah]6 nIo ah]6  

1 afnL ljsf; sfo{qmd           

1.1 

&%Ü k|ltzt cg'bfgdf pGgt 

hftsf] d}s} lap ljt/0f -9'jfgL 

;d]t_ 

d]=6 3 198.0   3 198.0    

1.2 %)Ü k|ltzt cg'bfgdf ds} 

;'sfpg] lqdfn ljt/0f 

;Vof 30 30.0   30 30.0    

1.3 ! lbg] vfBjfnL pTkfbg tflnd ;Vof 2 50.0 1 25.0 1 25.0    

2 t/sf/L jfnL sfo{qmd           

2.1 &%Ük|ltzt cg'bfgdf cfn'sf] lap 

ljt/0f -9'jfgL ;d]t_ 

d]=6 7 470.0 7 470.0      

3 cn}rL tyf km'nkm'n afnLdf ;d:of 

lgbfgdf ljiffbL ljt/0f 

;+Vof 15 100.0 15 100.0      

4 afujfgL ljsf; sfo{qmd           

4.1 !))Ü k|ltzt cg'bfgdf cfFksf] 

lj?jf ljt/0f 

;+Vof 5333 400.0     5333 400.0  

4.2 !))Ü k|ltzt cg'bfgdf lnrLsf] 

lj?jf ljt/0f 

;+Vof 5000 400.0     5000 400.0  

4.3 cfFk tyf lnrLsf] la?jf 9'jfgL ;+Vof  50.0      50.0  

4.4 %)Ü k|ltzt cg'bfgdf lsaLsf] 

lj?jf ljt/0f 

;+Vof 1500 75.0   1500 75.0    

4.5 %)Ü k|ltzt cg'bfgdf gf;kftLsf] 

lj?jf ljt/0f 

;+Vof 1000 20.0   1000 20.0    

4.6 %)Ü k|ltzt cg'bfgdf bft] 

cf]v/sf] la?jf lat/0f 

;+Vof 500 12.5   500 12.5 
 

   

4.7 %)Ü k|ltzt cg'bfgdf :ofpsf] 

la?jf lat/0f 

;+Vof 500 10.0   500 10    

4.8 lxpFb] lj?af 9'jfgL vr{   50.0    50.0    

4.9 !))Ü k|ltzt cg'bfgdf knd 

lj?jf ljt/0f 

;+Vof 1000
0 

250   1000
0 

250.0    



qm=;= sfo{qmd ljj/0f OsfO{ aflif{s k|yd rf}df;Ls lålto rf}dfl;s t[lto rf}dfl;s s}lkm

ot 

nIo ah]6 nIo ah]6 nIo ah]6 nIo ah]6  

5 s[lif k|rf/ sfo{qmd           

5.1 &%Ü k|ltzt cg'bfgdf a]df};dL 

tfhf t/sf/L pTkfbgsf nflu 

Kofli6s l;6 ljt/0f 

;+Vof 40 240.0 40 240.0      

5.2 &%Ü k|ltzt cg'bfgdf yf]kf l;rfO{ 

ljt/0f 

;+Vof 40 120.0 40 120.0      

5.3 9'jfgL vr{    25.0  25.0      

6 t/sf/L lap v/Lb tyf ljt/0f  k6s 2 159.0 1 100.0 1 59.0    

7 /fli6«o wfg lbj; k6s 1 75.0     1 75.0  

8 cu'jf s[ifs /fli6«o :t/df e|d0f k6s 1 200.0   1 200.0    

9 %)Ü k|ltzt cg'bfgdf :k|]o/ 

ljt/0f 

;+Vof 30 31.5 30 31.5      

10 sfo{qmd ;+rfngsf] b}lgs e|d0f 

eQf vr{ 

  105.0  55.0  25.0  25.0  

11 s[lif ljsf; sfo{bnsf] a}7s  k6s 3 30.0 1 10.0 1 10.0 1 10.0  

12 d;nGb tyf cGo sfof{no ;fdfu|L 

v/Lb 

k6s 1 50.0 1 50.0      

13 ;jf/L ;fwg df]6/;fOsn v/Lb -

k"FhLut tkm{_ 

;+Vof 1 270.0 1 270.0      

14 %)Ü k|ltzt cg'bfgdf Rofpsf] 

lap ljt/0f -9'jfgL ;d]t_ 

k6s 1 29.0   1 29.0    

15 Rofp v]tL tflnd k6s 1 25.0   1 25.0    

16 aif]{ kmnkm"nsf] la?jf 9'jfgL 

cg'bfgdf ljt/0f 

k6s 1 25.0     1 25.0  

17 hDdf ah]6 /sd ?   3500.
00 

 1496.
5 

 1018.5  985.0  


 
 
 
 
 



ldSnfh'ª ufpFkflnsf ufpF sfo{kflnsfsf] sfof{no 
s[lif ljsf; zfvf /la, kfFry/ 

cf=a= @)&%÷)&^ sf] ;+3Lo ah]6 tkm{sf] :jLs[t sfo{qmd  



qm=;= sfo{qmd ljj/0f OsfO{ aflif{s k|yd 

rf}df;Ls 

lålto 

rf}dfl;s 

t[lto 

rf}dfl;s 

s}lkmot 

nIo ah]6 nIo ah]6 nIo ah]6 nIo ah]6  

1 s[lif kf7zfnf ;+rfng k6s 1 100        

2 ;d'bfo Jojl:yt l;+lrt 

s[lif If]q sfo{qmd 

          

2.1 Plss[t afnL tyf hn 

Aoj:yfkg s[ifs kf7zfnf 

;+rfng  

k6s 1 38.0     1 38.0  

2.2 :yfgLo lgsfodf ;+rflnt 

CMIASP-APsfo{qmd 

cg'udg÷lgl/If0f -cg'udg 

d"NofÍg tyf sfo{qmd 

sfof{Gjog _ 

k6s 2 50.0 1 30.0 1 20.0    

2.3 df]6/;fOsnsf] nflu 

k]6«f]nsf] nflu -sfof{nosf] 

OGwg_ 

k6s 1 2.0     1 2.0  

2.4 Pls[t afnL tyf hn 

Joj:yfkg s[ifs kf7zfnf 

;+rfng  

k6s 1 218.0 1 218.0      

2.5 df]6/;fOsnsf] nflu 

k]6«f]nsf] nflu -sfof{nosf] 

OGwg_ 

k6s 2 16.0 1 8.0 1 8.0    

3 df6f] k/LIf0f tyf ;'wf/ 

;]jf sfo{qmd 

          

3.1 s[lif r'g ljt/0f   1 45.0 1 45.0      

4 ;xsf/L v]tL, ;fgf l;rfO{ 

tyf dn lap 9'jfgL 

sfo{qmd  

          

4.1 ;fgf l;rfO{ lgdf{0f÷ dd{t 

;Def/÷Knfli6s kf]v/L 

lgdf{0f 

          

4.1.1 Knfli6s kf]v/L lgdf{0f ;+Vof 10 300.0 10 300.0      

4.1.2 ;fgf l;rfO{ lgdf{0f  k6s 1 240.0 1 240.0      

 s'n hDdf ah]6 ?   1009.0  841.0  128.0  40.0  


